07% (2 §REfp%

£ F4x F(TWDIT)
X:270546 Y:2667258
k& {0 §(WGS84)
Ty )
=g *g” E:121.20211 N:24.11034
Tmam
ans
112 # 1 v -5 1= € 001

SKEBENE : B 14 BK 187K
Slst KEZERE 78 2H 1100 %D
Sond KEZERE 7HA3B 7R 09

K EHEE - BRB(LLER)
lst KEZEZBAUZETERE : 36mm
w2nd KEREZAWNEBERE : 256mm

® == 4 ,
- EREENE(EELR) # £ : Y& (CLHO00)

(4Ew§$£$“‘%0mm

07/03 0725 % ==k i 354 & w5 Bl
(R=25mm -~ I=0mm/h)

1y 36

i

07/02 112 %

— R BB AR
(R=36mm ~ I=0mm/h) =

mr

O Sas

A ol 000000

A e

.Il | N
OO0 O00 0000000000000 O00D0DO0DO0O0D0DO0DO0DO0DO0O0DO0ODO0OO0O0ODO0OO0OO0O
R EEEENNNNMNNNNNNNNNNNOODODODODO0DO0DLDO0DO0DW0WWSS
O0O0OO0O0ORHHEELNNOOOOORLELELHEENNOOOOORRLEEHEELNNO
ON PO ONDBOOTODONONIDOIOAIONDIDOOTAIONONIDIITDONEIITDONO
L E R R R L R R R R R R R R R R R R R R R R R R R0
PR R R R R R PR R R R R R R R R EZE R RREERERER

1A e HMBFHE R AT B

AL URE AR

L OH

’;‘12 . #F'%.s il 4 I"‘”Ia"" = 0}%)1]?{,{&&1——% W:,.;;y]

O
33 ‘iiﬂ*Fé’fs#’aﬁ"E‘*F’"o
Ak FER T I R Rt
5 LR EN ARG I E A TR
BRGLIR L DR ENARE o

< SBRIRGE -

v ba?*“ DB 14 PR I1BTK R DRI 7/2 K 7/3 3HEFRE - MM REHIBG B ERBIEREE - #)F
S EFEEBRAY - ERAASEE  MNTEAKE - CSREREERS B AﬁﬁinL

EJWKEEEiE?EBA"FE BR - 58 2 REBAIS T AMIEN LTTEEE -
ROZEERS - BRRER B RH St imEiRER K -
SZ%?ET? FRIBEERA 50 AR - BH 20 AR - HEAY 1,000 FAAR - FHRIBREN 2 AR -
ARIBEREAY 2,000 LA AR - ML - TL%&&%&IXE % 20 /AE - BF 10 AR - ETEA 200 F
AR - FHEEESEN S AR - HEER4 1,000 L5 AR HEER4 2,000 THAAR -
vIGEmE - £ MURREEXLY 40 AR -

BEREMBEEEERIER -

mu

—-_————

e 14




